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3.1 Power Rule NOTES
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f(@)=1+4+csch

flx) = %x\/Zx -1
fl(d) = 2.079
f'(e) = |. %

Derivative means...

Slope at a point

Given y = %x“ —x + 2 find
the slope at x = 2

f/(m) = DrE

r@-o

Slope of the tangent line

Write the equation of the line
tangentto y = %x“ —x+2

Instantaneous rate of
change

What is the instantaneous rate
of change at 3 seconds?
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Normal Line
Write the equation of the normal line at x = 3 and then graph it!
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Derivative Rules
d d du
ConstantRule ~ ——C = 0 Constant Multiple Rule a(cu) =co
Power Rule :_xxn = nx1 Sum/Difference Rule :_x (u+v)= (3_1; + %)



